Z:\Clients\Plastpro, Inc PERMANENT\B - TDI\TDI - DR XXXX 8-0 OPQ & GLZ Impact\C - Drawings\TX-5283.dwg

plastpro

5200 W. CENTURY BLVD.
LOS ANGELES, CA 90045

GLAZED FIBERGLASS DOORS
SINGLES
w/ or w/o SIDELITES

INSWING / OUTSWING
"IMPACT"

EVALUATED FOR USE IN THE STATE OF TEXAS

The Fiberglass Door system described herein complies with the 2018 International
Residential Code (IRC), Sections R301 & R609 and the 2018 International Building Code
(IBC), Sections 1404.13, 1609, 1709.5, 2403 and 2404 subject to the following conditions:

1. Anchors shall be as listed and spaced as shown in the details. Anchor embedment
to base material shall be beyond wall dressing or stucco.

2. This system has been tested and evaluated as a large missile impact protective
system for installation in areas that require wind borne debris protection. This
product meets missile level "D" as defined in ASTM E 1996.

3. Allowable design pressure requirements must be equal to or less than the design
pressure rating shown in the design pressure chart, sheet 1 of this drawing.

4. Conditions not covered by this drawing are subject to further engineering analysis.

TABLE OF CONTENTS

SHEET # | DESCRIPTION

Typical Elevations, Design Pressures & General Notes
Door Panel Details

Sidelite Panel Details

Elevations

Horizontal Cross Sections

Horizontal & Vertical Cross Sections
Vertical Cross Sections

Frame Anchoring

Hardware Details

Components

Bill of Materials & Components

(PN OB [WIN|—

olv

115" MAX. OVERALL FRAME WIDTH
_ 3725'MAX. __  375'MAX. __
FRAME WIDTH FRAME WIDTH
e
—
O
5 o
=Y
% '('5 < 6
< = EZ
0 X 0
— Z o o |
$2 &8 o
>
3 i o
p O
< B
1.5 —] 1.5
/ / /
X X
o @
(-] @
/ /
X XO OoX

Lyndon F. Schmidt, P.E
TEXAS P.E. #104123

813.659.9197

P.O. Box 230 Valrico FL. 33595

BUILDING CONSULTANTS, INC.
Phone No.:

Documents Prepared By:

TEXAS BOARD OF PROFESSIONAL ENGINEERS
CERTIFICATE OF REGISTRATION # F—11852

PLASTPRO INC
FIBERGLASS DOOR
PART OR ASSEMBLY:

PRODUCT:

TYPICAL ELEVATION, DESIGN
PRESSURES & GENERAL NOTES

BY

NO., DATE

REVISIONS

DATE: 8/18/22

SCALE:  N.T.S.

DWG. BY: LFS

X 37.5"x 98.0" N/A +45.0 -50.0 +45.0 -45.0
SRIXO 74.75" x 98.0" N/A +40.0 -45.0 +40.0 -40.0
76.25" x 98.0" 2X +45.0 -50.0 +45.0 -45.0

OXO 112.0" x 98.0" N/A +40.0 -45.0 +40.0 -40.0
115.0" x 98.0" 2X +45.0 -50.0 +45.0 -45.0

CHK. BY: RW

DRAWING NO.:
TX-5283

SHEET _1_oF 10

© zozz2 R.W. BUILDING CONSULTANTS INC.



Z:\Clients\Plastpro, Inc PERMANENT\B - TDI\TDI - DR XXXX 8-0 OPQ & GLZ Impact\C - Drawings\TX-5283.dwg

—]  }j=—0.4" 3.7
- EXTERIOR 04" —— f=—
YT - & d | . 1) *
I N ]
] INTERIOR \
cap (Pve)  STHE(LVL —_— LATCHSTILE (Lv)  CAP (PVC)
/"1 "\ HORIZONTAL CROSS SECTION
\2/
35.75" MAX. PANEL ___,
WIDTH
. 2LI3'MAX.
D.L.O. WIDTH
<
,/
Vi
4
o>
ﬂ:
= = 1 _ ks
(O] o
d .
o
Z e .
£ 3 X =
=< >
<< <€ 8
=z = () *
IS 1\@ T
\SEE DOOR LOCK
| HARDWARE TABLE
/ ™
VA
17 #7-19 X 2" PPH SMS
(22 PLCS.)
9 L #8 X 3' FH WS @ EACH CORNER e
@ o & THROUGH STILE INTO RAIL (4 TOTAL ) KNOB:  SERIES (400
S E KWIKSET | DEADBOLT: ~ SERIES (60)
PLASTPRO DOOR PANEL KNOB:  SIGNATURE SERIES
@ RWIKSET DEADBOLT: SIGNATURE SERIES (980)
KNOB: F-SERIES (F51)
SCHLAGE _
FIBERGLASS SKIN: 0.075" MIN. THK. DEADBOLT:  B-SERIES (B60)

FOAM CORE: POLYURETHANE

TOPRAL — [~

(COMP.)
1=
FOAM CORE — |
/i
/A

INTERIOR

Y/

FIBERGLASS SKIN—"

BOTIOMRAL—T 1 -

(COMP,)

P
FAR
S
&
H
g
o
Iy
'y
X?
. XK,
— Qs
3

e Q8T
eevtetses, s
o 0
o
*,
s
"o
0
b ’
F °
cessrsssassnsssarasessssetonie
/ .
B LR R A R i it
.
. o~

W EXTERIOR

1.2"

/" 2"\ VERTICAL CROSS SECTION

W27

L
]
53 N
ES e 49
5* 10 ze
ou S8 o
LLD. = N ok
v GE2 Jm
6% 2N
o Z99s 22
b oo 55
E\l— FETWHn =X
2 Jpg0 0k
2>mH n®
Zono 5hb
5  8Q. EQ
g gxf F
[o]
B 247 by
a 256 ©
) 59c¢ 4=
o mon F<
m O
: :
: 2
o
3 =
[]
o
S %]
98 =
=Q <
own . xly
o > ©AQ
a2 |3 S
=S |3 ax
[T) = Ll
e |6l =
am (g
=
= o
S e
o &
>_
24
2]
=
o
%}
o
L
<t
(o)
o
=z
DATE: 8/18/22
SCALE:  N.T.S.
DWG. BY: LFS
CHK. BY: RW
DRAWING NO.:
TX—-5283

SHEET _2 oF 10

© 2022 R.W. BUILDING CONSULTANTS INC.




i
— |04 37 - &3
I EXTERIOR 04" —— |=— g8, B
e = ok £= g i
= | . Bu o8B BT
o NN ol e s TOPRAL — [~ tg B2 =
. O RR 3 TR R §3 £g2 12
g : . o4 (COMP.) oW Zo2 38
fn __n o Ay o : 3 2gg Bk
\ \ " = 2on b
INTERIOR - 8 ONs @
carpve) S ATCHSTILE (1vt)  CAP (PVC) o s g3 .t
|~ :  Za
FOAMCORE — [~ 2 345 E;
.o o mon <G
/"1 HORIZONTAL CROSS SECTION ,Z PRI B £
3 —ff— & i
35.75" MAX. PANEL - 3
WIDTH e
. 2LI3'MAX.
D.L.O. WIDTH
4
x
1 - = o8 |
= LL.I<
Sn |- bt‘
. o |5 Z2°
/ ODL LITE FRAME - 5/8" GLASS BITE Ex |2 oz
7 4 1" O.A. GLASS THK. =8 |4 £
| INIERIOR — INTERIOR b EXTERIOR 5l ¢ |
i 1/8" TEMPERED GLASS 4 2 >
1 TN . ARSPACE 2 g
—
5 = N = " S5 —1/8" ANNEALED GLASS -
¥ = < 0.0%0" SAFLEX PVB INTERLAYER &
2 g 1 1/8" ANNEALED GLASS
=z 2
2 0 8
X % EXEHIOR * STEEL SPACER (INTERCEPT)
s =
= 3 #7-19 X 2'PPHSMS  DOW 995 o 2
wn ™
S o * NON-STRUCTURAL BACKBEDDING -k 2
@ A
| /f -
/ e S
J #7-19 X 2" PPH SMS . .
/ (22 PLCS.) ~— 178" = Lo
/ " Y &
: —"-I-— FIBERGLASS SKN—| - "
: . =
= — [N = .
9 L #8 X 3" FH WS @ EACH CORNER T i | S
oo THROUGH STILE INTO RAIL (4 TOTAL ) { BOggm;AlL/ oATE: 8/18/22
= (COMP) e el ¥ SCAE  N.T.S.
50\ PLASTPRO SIDELITE PANEL we B LFS
ODL ALUMINUM LITE FRAME DETAIL ohk. B RW
"Flat Frame” Profile @ VERTICAL CROSS SECTION =L
FIBERGLASS SKIN: 0.075" MIN. THK. TX—5283
FOAM CORE: POLYURETHANE SHEET 3 oF 10

Z:\Clients\Plastpro, Inc PERMANENT\B - TDI\TDI - DR XXXX 8-0 OPQ & GLZ Impact\C - Drawings\TX-5283.dwg

© 2022 R.W. BUILDING CONSULTANTS INC.



"ON] SINVLINSNOO aNIaling *‘m's 2202 @

ZS8LL—4 # NOLLVMISION 40 FLVOIILNIO 3 SNOISIAZY VT ToN
SHIANIONA TYNOISSII0¥d 40 QuvoE SvX3L SNOLLVATT3 o glolz| = m_
L6L6'6G9°CL8 ON 8uoyd : N o|lTle| O
G6SEE 14 OOUIDA 0SZ Xog .O.m\&\bg A1EGN3SSY J0 1¥vd m M P :2u o
*ONI ‘SINVLINSNOD SNIaTing N NER 4_

4000 SSv19¥34Id ol |&|&|g &

€ZLYOL# 3'd Svxal ONI 04d1LSY1d i m d|x|Z &
‘3'd PIWYDS ‘4 uopui :Ag peupndelq sjuswinoo(q :10Naoyd S i W w = 5

4

&

D
SH o
(o=
NI WO
|/
B YY) M7
S =
mw
————— U A
D
@)
S s
&
v 1@
<2 I N S
(== ||>
oo ]
. ™|~
@ > v mw
5
(9
PO O
wy
@ x i
—5 >

ELEVATION
0)(@)

ELEVATION
XO / OX

ELEVATION

BMP €825 -X L\sDUIMEIQ - D\oedW] Z19 1 DJO 0-8 XXXX ¥d - IALNAL - 8\LNINVINYId du] ‘0idiseid\s3uslD\Z



- Z\Clients\Plastpro, Inc PERMANENT\B - TDI\TDI - DR XXXX 8-0 OPQ & GLZ Impact\C - Drawings\TX-5283.dwg

A\

VW S STTTTYTL. B
TI171101714 1111177

Nlaw
ONG!

INTERIOR

@ EXTERIOR

/"1 "\ HORIZONTAL CROSS SECTION

\\5/ Outswing shown (Inswing similar)
Back-to-Back Jambs

A\

A\

I/

A\ \

SEENOTE 1

®

12

®

SEENOITE 1

m HORIZONTAL CROSS SECTION

\5/

/~3"\ HORIZONTAL CROSS SECTION

11

&/

Outswing shown (Inswing similar)
Shown w/ 2X Reinforcement

“0)

Outswing shown (Inswing similar)
Back-to-Back Jambs

INTERIOR

EXTERIOR

NOTE:

1. Spacing for item L: 6" from each end and 5 more
equally spaced along sidelite jamb (7 total).

A

SOV
oo F TI

)

12

/~ 4"\ HORIZONTAL CROSS SECTION

®

A&/

Outswing shown (Inswing similar)
Shown w/ 2X Reinforcement

SEENOIE 1

(1]
QR
PR 0
o
2 0 G o
£* n yw
u_& —J,\ s
'h-?-,» a3k
:g P 5 =2
2 292 22
QW o0 50
>‘l- [ =] GE
2 Jag5© 0
a>n 3
Zow &b
2 an X o
@ ON= pu
(] (4
o ©35Z
o Zm (o}’
= o 2 o
o 9 .¢ 4
& 5028 gp
o mono 66
m=
2 i
6 %E
£ [T}
5 o
(4]
[¢]
[a]

o (%)
0o =
=0 IS)

a =E
v |5 o
SHEEN
43 |5 £g
2L |9 TS

T
5 ~ |z
= o
S ke
o P
>_
m
wn
pd
o
n
4
L
<
fa)
o
z
DATE: 8/18/22
scaLe:  N.T.S.
DWG. BY: LFS
CHK. BY: RW
DRAWING NO.:
TX—5283

SHEET _5 oF 10

© 2022 R.W. BUILDING CONSULTANTS INC.




Z:\Clients\Plastpro, Inc PERMANENT\B - TDI\TDI - DR XXXX 8-0 OPQ & GLZ Impact\C - Drawings\TX-5283.dwg

DRYWALL \

Tr

®

l'-.‘

~— -

0.15" C-SINK

(TYP.)

O

@ 7

INTERIOR

/ DRYWALL

/4
//

7

®

EXT. SHEATHING A g

RS

/1 "\ HORIZONTAL CROSS SECTION

w Outswing shown (Inswing similar)

EXTERIOR

)

= |

12

/"2 "\ HORIZONTAL CROSS SECTION

w Outswing shown (Inswing similar)

DRYWALL
/ EXT. SHEATHING

SEE NOTE 1
INTERIOR z
‘X
EXTERIOR

EXTERIOR

EXT. SHEATHING

7“3\ HORIZONTAL CROSS SECTION

w Outswing shown (Inswing similar)

SEENOTE 2

Z EXT. SHEATHING \
EXT. SHEATHING [

DRYWALL

5

\\

INTERIOR

/"5 "\ VERTICAL CROSS SECTION

w Outswing shown (Inswing similar)

Wik
NOTES: SN “11%
1. Spacing for item L: 6" from each end plus PR =D ;934, 112
5 more equally spaced along sidelite 3 NN

jamb (7 total).
2. Spacing foritem L @ head & sill: 6" from
ends (2 total).

PLA R L LT

A
— - |
) /DRYWALL
| -
EXTERIOR » INTERIOR

m VERTICAL CROSS SECTION
W Outswing shown (Inswing similar)

Lyndon F. Schmidt, P.E.
TEXAS P.E. #104123

BUILDING CONSULTANTS, INC.
P.O. Box 230 Valrico FL. 33595
813.659.9197

Documents Prepared By

Phone No.:
TEXAS BOARD OF PROFESSIONAL ENGINEERS

CERTIFICATE OF REGISTRATION # F—11852

PLASTPRO INC
FIBERGLASS DOOR
PART OR ASSEMBLY:
HORIZONTAL & VERTICAL

PRODUCT:

CROSS SECTIONS

REVISIONS

NO| DATE

DATE: 8/18/22

SCALE:  N.T.S.

DWG. BY: LFS

CHK. BY: RW

DRAWING NO.:
TX—5283

SHEET _6_ oF 10

© 2022 R.W. BUILDING CONSULTANTS INC.




Z:\Clients\Plastpro, Inc PERMANENT\B - TDI\TDI - DR XXXX 8-0 OPQ & GLZ Impact\C - Drawings\TX-5283.dwg

\\

INTERIOR

EXTERIOR

20 (26

P ) WOOD
D ) CONCRETE

/"1 "\ VERTICAL CROSS SECTION

w Inswing Sill

INTERIOR

SEE NOTE

\\

EXTERIOR

1

AV Y

\\\\‘.\\\\\‘.’\\\\\\'\\\\

/“ 4"\ VERTICAL CROSS SECTION

\U Inswing Sill

y/i
INTERIOR Yx EXTERIOR
®)®)
2
P ) WOOD
D ) CONCRETE

/" 2"\ VERTICAL CROSS SECTION

W Outswing Sill

INTERIOR

SEENOTE 1

\\

~N

EXTERIOR

DEAA R R AR RR RN

I
I

iy

SIS

/"5 "\ VERTICAL CROSS SECTION

w Outswing Sill

NOTE: N, W
1. Spacing for item L @ head & sill: 6" from oot ¥ AN e PR 0
each end (2 total). P | 4|82 o B9
Sa% iz £ g Ude
Sws % \9\ Su 6B &Y
5K t .o Z Gu
qu; S % K, AEO e
501 PNt < Ofeg £ oo 27
Gu i% 2 Xg3 oo
) %, 202 N Hx =
2\/4_-, 3 ) J oo @
Q. D1 258 08
OIS et Z 5Lt Zoo b
. 4 .~ ox
32111**553 o ( s B8R, Bg
M ox2 &
V1B B O
2 256 ©
) 50 =
& mon 8 5
2 § zz
6 b
t &K B8
8
/“Y
' 2]
(S]] 2]
=2 g%
o .e o
m‘f) > =
/1% : i2 |2 385
24 woe & E6
S |o &
RS
g 2
3 5
S E
& Py
>
m
P ) WOOD
WOOD/CONCRETE
SUBSTRATE (TYP.) D ) CONCRETE
/3" VERTICAL CROSS SECTION 2
W ADA Sill o
2
Ll
<
()
o
Z
DATE: 8/18/22
SCALE:  N.T.S.
DWG. B::  LFS
CHK. BY: RW
DRAWING NO.:
TX-5283

SHEET _7 oF 10

© 2022 R.W. BUILDING CONSULTANTS INC.



ANy E "
‘c"\; *: § & J £ )
N 1= I 35 o BN
SxeTiEnY 4|EX 8 8
TANGE a%d ¢B  gF
A o o e 2y G
PL-: $ 2 (- 0 452 =%
o} ith g ss £ .o 2
E‘\-\ﬁ." iz i i %2080 33
X 10 ¢ £ BIE SE
NP3 iR 2 do@ 0
Qs 1Bt 2>m8 OF
. ?zhl **g £ . §8° gk
* = 4 (?Yg\I(P.) - Mnindan™ IR
n . o &
6" 4 (TYP-) =" 6" 4u (TYP) E- 3 2 g Z%
TYP —| ’<\ 4|| TYP. 6" ® 2 5 = mE
) I e — me | [T (ve) = ! . m§ 2
m —
l_ /)llll l_ /)Illl ‘IILII\ | g 2k
! e X ES
* X X S
= E? e
s et = L'
HEAD & JAMBS - HEAD & JAMBS HEAD & JAMBS =
(TYP.) (TYP.) BACK-TO-BACK (TYP.) BACK-TO-BACK
) JAMBS g JAMBS o8 | 2
. T i . w/ REINF. w/ REINF. ] Zq x
I
(TYP.) (TYP.) 29 |54 S
IS
i — o ¢ - et = M —— no = W
S5 |4 =
Om 0l <<
P T s
= 14
= o
- ] B . . - - » T 8 &
CONCRETE Q CONCRETE & 5
Q CONCRETE G Q GE n & B
—wooa _ o-;_ . " WOOD — oE _ - WOOD - ) SE %
in 35 SILL (TYP. % SILL (TYP. in X
SILL (TYP.) ~3 % (TYP) =3 " (TP JE <
*
— ] ADASILL ONLY ,— — \ —_ —_ — \ — - _
QAAS'O I I Ll L I I LTl L LT " I
T 0
=
o
—_ [7]
- 0O =
2o E 5
X X0 /0X OXO &
NOTE: FRAME CORNERS ATTACHED w/
(3) #10 X 2-1/2" FH WOOD SCREWS (TYP.) FRAME ANCHOR'NG
Ll
<C
[
* NOTE: THESE ANCHORS ARE REQUIRED FOR DESIGN PRESSURE > 40 PSF ONLY =
=z
DATE: 8/18/22
scAE:  N.T.S.
DWG. BY: LFS
CHK. BY: RW
DRAWING NO.:
TX-5283

SHEET _8 oF 10

Z:\Clients\Plastpro, Inc PERMANENT\B - TDI\TDI - DR XXXX 8-0 OPQ & GLZ Impact\C - Drawings\TX-5283.dwg

© 2022 R.:W. BUILDING CONSULTANTS INC.



‘ON| SINVLINSNOJ aNIaing "m's 2202 @

— SNOISIATY
S8 LVALSI aLvol
mmumn_wz.w ﬁ<nm__mmm.,_omwm.._m_on_m<oom..=mdwwl_. STVIEA F4YMAdvH Ad A1VA [ON| oy . nlz| O_
N[ Ly
. ¢ o : ) x Q| W
S6SEs hiﬁ_m.._rmom_m._“.“.c\m Pwnwouomo c.n%m__ \Sﬁ&. :A1GWISSY ¥0 Ldvd W _.Nl. = 3 M S
*ONI ‘SINVLINSNOD SNIGTINg . HEREN 9_
¥00a SSV1943dl4 o |&|&|g &
£ZILYOL# ‘I'd Svxal ONI' 0ddLSY1d il M G &
‘A'd IPIWLYDS 4 Uopukl :Ag peupdesd sjuswnosoq :109NnAaoyd = g W m x W.
b
- ¥ o
(O z=
ZZ T
sl &0
(7o}
)
\ :
T—X e ] .
& e e = o
gWVT 40 dOL =
WO¥d L€' L (dAL) L =
*0'0.8C1°9¢
o™~
=
<
WA &
F eFeN F w
ow ) O
| I | W
@\\ elel
(awvr 40 doL Ol - ¢ -
W90°GS 7 ! =
A
[ (B8 =) ] =
1 ! >
w ac
o B \ S
T 5 o
Or-="
= = <€ -
QL=
i 9w
3 8 =
LY & <
(® Nr MJ = w Ly
O
| I | W D
@\\ e or:o E
<
Q
(4
<
= =
3
<
&
Q
~
=
(%
& 2 g
oc
) Yy 5
A 5 Yol [l 5 S
- H=H | a
_||'- D ‘ _hmﬂ_ m = I~ 1 I~ m m
w A . /\ = w | ki ~
< o _ e o
7 2 @) & 2
3 oy @ 9 ~ <
g N/ a
sV o3
e ™ 5
=
pu

Bmpeges-x1\sbumelq - D\1edw| Z19 12 DO 0-8 XXXX ¥A - IALNIAL - S\LNINVIAYId Ul ‘oudise|d\s1ual|D\:Z



Z:\Clients\Plastpro, Inc PERMANENT\B - TDI\TDI - DR XXXX 8-0 OPQ & GLZ Impact\C - Drawings\TX-5283.dwg

BILL OF MATERIALS
ITEM # DESCRIPTION MATERIAL
A | 2XFRAMING (G >=0.42) WOOD
C | 1/4"MAX. SHIM SPACE ;
D |1/4"@ PFH ELCO OR ITW CONCRETE SCREW (1-3/4" MIN. EMBEDMENT) STEEL
G | 3/16"@ PFH ITW CONCRETE SCREW (1-3/4" MIN. EMB.) STEEL
J | #10X 2" PFH WOOD SCREW STEEL
L |#10X 2-1/2" PFH WOOD SCREW (1.15" MIN. EMB.) STEEL
P | #10 PFH WOOD SCREW (1-1/2" MIN. EMB.) STEEL
1 | POLY FIBER JAMB COMP
5 | 2X REINFORCEMENT (G >= 0.55) WOOD
6 | DOOR SWEEP PVC
7 | WEATHERSTRIP FOAM
9 | #9 X 3/4" PFH WOOD SCREW STEEL
11 | 4'X4"HINGE STEEL
12| LATCH STRIKE PLATE STEEL
13 | DEADBOLT STRIKE PLATE STEEL
14 |10-32 X 3/8" PFH MACHINE SCREW STEEL
15 | #12 X 2-1/2" PFH WOOD SCREW STEEL
16 | #8 X 2-1/2" PFH WOOD SCREW STEEL
20 | INSWING THRESHOLD ALUM/COMP
21 | INSWING THRESHOLD w/ SIDELITE ADAPTER ALUM/COMP
22 | OUTSWING THRESHOLD ALUM/COMP
23 | OUTSWING THRESHOLD w/ SIDELITE ADAPTER ALUM/COMP
24 | ADA THRESHOLD ALUM
25 | OUTSWING THRESHOLD ALUM/WOOD
26 | INSWING THRESHOLD ALUM/WOOD
27 | INSWING THRESHOLD w/ SIDELITE ADAPTER ALUM/WOOD
40 | DOOR PANEL -
50 | SIDELITE PANEL -
CONCRETE ANCHOR NOTES:

. Concrete anchor locations at the comers may be adjusted to maintain the min.
edge distance to mortar joints.

. Concrete anchor locations noted as "MAX. ON CENTER" must be adjusted to
maintain the min. edge distance to mortar joints, additional concrete anchors
may be required to ensure the "MAX. ON CENTER" dimension are not exceeded.

—_—

lTW BUILDEX

X |_3/16" T1/&" 3 11/2
TAPCON 14" 11/8 7 4"
DeWALT ] . .

uiRacoNG | 14 1-1/4 L) 4

WOOD SCREW INSTALLATION NOTES:

. Maintain a minimum 5/8" edge distance, 1" end distance, & 1" o.c. spacing of

wood screws to prevent the splitting of wood.

4.56"

1.25"

0.75"

2.44" !

POLY FIBER JAMB

1

‘.., 1.4" -

4.56" !
20 INSWING THRESHOLD

Endura (Z-Series)

4.56"

22 OUTSWING THRESHOLD
Endura (Z-Series)

1.25"

4.56"

128

OUTSWING THRESHOLD
25 DLP

INSWING THRESHOLD
26 DLP

S a3
'55:.%*- 9' 3’:@’3 0 &S
A SRS o[ = g L8
Sws 15 Vdu B &5
P2 Sy H 2 . .o z z
I\ 7412 \ u Ju 2
ouw: 2N L Tl
0 Y i cg el
501 PRt ) |53 E oo %,
S Wt iz b Z00 358
# oo} ol 5F HEI® GE
N - S T 385 a8
S A 2ob b
Hpds: ¥ 5 S8&; Eg
11\\\\1‘:.‘\7\-\" o x2 [4
21" e X3 285 &y
T SIDELITE § 350f Bu
‘ ADAPTER : mg 8é
0 E R g8
8
4.56" !
21 INSWING THRESHOLD w/ SIDELITE ADAPTER Q% Bin
Endura (Z-Series) =8 ==
on b
g:_(n > S
SIDELITE o |2 =%
ADAPTER é% ﬁ LOLS
! - S =E
o g S =
o o
+ i &
! 456" &
23 OUTSWING THRESHOLD w/ SIDELITE ADAPTER
Endura (Z-Series)
' 4.56" 2
) | 5
g %}
. ADA THRESHOLD T
DLP
)
(o]
=] 212" A‘
i I Ll
= <
a
1 o
=z
U e e
o S ScALE:  N.T.S.
5& ! 457" _! DWG. B:  LFS
o CHK. BY: RW
27 INSWING THRESHOLD w/ SIDELITE ADAPTER DRAWING No.:
DLP TX-5283

SHEET 10 oF 10

© 2022 R.W. BUILDING CONSULTANTS INC.



